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[[1) RoMIEZ T3 wv, (£65H)
1) (2x—y+32)°* ZEEY X,

(2) 25—20y+4xy— " TEHOEE X,

8) x<2 OLs JP—4x+4 % xDBRTEY,

4) x=24+/5 DLts L-4+x—2 OEZRD X,

6) FENX 5x—3>x+a OfEN x>3 LL2IIIEHaOERZED X,

6) BIE y=a (x—3)’+b (2<x<5) OfEH» —-T7<y<1l THBLE, EHa bOEERD L,
27EL a<0 :¥3,

3

(7 2XFHERK Hmj\waino o A

8) %X |x+1| >3x %#ET,
(9) sin80° cos170° — cos80° sin170° DfEz KD X,

10 U={x|1=x510, x13B¥} *2EE£5L 32, UDEoELSA={1, 2, 8, 4, 8} B={3, 4, 5, 6}
C=1{2, 38,5 6,9 t¥423rs, (AUB) NC #%R®DX,

[(M2] XoMiz&z &,
(1) Bw#g y=-2+"+8x—5 LEUCIEMERSL, yllies 0, 11) TRbZ2REPERO X, (7H)

(2) 2REAB y=x"—4dax (0<x<3) OBMEEZROBEIHT T, #hEnEz X, (9A)

i) a<0 oL i) 0gasS prs B a>2 oes
5 5

(3] AABCIiTBWT, AB=6, AC=4, A=60°2%3, LZAOD-ENFLILBCOREEDLETELEEADD
ExZRok, (844)

[fI4] RoMiz&E 2 &,

(1) HFORIZHDT7 7 A20NDOHET A DBHEOERSTHRTH 5, BER () FERL
IOLEZDI I ROFHEIL, ED &S RIEOWEI % 55, (8 &) AOmBPLE~A9RBT| 2
m 502 2L E~ B9 B 5
60 L B~ 695 LT 8
T0EM B~ T95BLF 5
At 20

2) 10BD7ARXIT6ADBEZDZ LI oT2, 6 N\OEFBIZZEAZN, 5,1,8, 10, 5, 7TETH o7,
DL ESERBONBEFEREZRO &, 720, BEREZIMEE 1ML TR X, (84)
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1] O THEIOKELR L L LIEOE, BRoTwIIEXFES LS wv, (24 x40 384

1 | fascinating i 2 | proud fi] 3 | challenge il 4 | burn

accident trouble stretch army

[2] RO&KFHEO THBU~DizowT, ZRENTOMY (1~4) RRINEO~DDI b b, HHBHAL THK
B3N bDE—o0FTOoRUFRIV, (28X 40 EF8K)

[R#M] Kate & George 2WFREL & - WIEZEIZOWVWTEHE LA > TV B,
Kate : What job do you eventually want to have?

George : (1) I haven't thought about it. Have you?

Kate : Yeah, I want a job (2) that allows me to travel.

George : Hmm, that would be nice, wouldn't it? What kind of job?
Kate : I'd like to be a tour guide. (3) What would you like to do?

George : Now that you mention it, I guess I'd also like a job allowing me to travel.
Kate : Doing what?
George : (4) I'd like to be a pilot.

i1l @ haven't @ thought @ about @ it
2 @ that @ allows ® me @ travel
M3 @ would @ you ® like @ do
4 @ 1d ® like ® be @ pilot

3] XoFEXD () ZAZBYLREMNELRY, LETEZLIV, (248%5 105)

{113

fil 1 If you're interested in global warming, this article is worth ( ).
7 to be read 4 having read Y to read . reading
fij2 Idon't smoke, and ( ).
7 neither doIdrink A I neither drink v 1 don't drink, too x I don't drink, neither
fl3 Reading is to the mind ( ) food is to the body.
7 what A that v if T which
il 4  You can't use the toilet now. It ( ) by the cleaning staff.
7 is cleaning A has cleaned v cleaned I is being cleaned
il 5 Pregnant women are advised not to get X-rayed ( ) it is absolutely necessary.

7 lest A unless v for fear = although
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CETEZLEIV, PR LLEHOED/NXFETRILLTH B, (3

oul

il (7 coffee £ me ¥ much = kept % too % awake) last night.
Ra—e—%MHBERTDIT, ERIZEL L2572,

B2 (7 towel A did v give <= Mary A this % you) ?
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Get (1 ) the bus for the station. When it approaches ( 2 ) the station, you will see a big fountain ( 3 ) your left.
The hotel you are speaking ( 4 ) is near ( 5 ) this fountain, so you will have no trouble locating it. The hotel is not
inferior ( 6 ) any first-class hotel ( 7 ) all over the world, and they will take care ( 8 ) all your personal needs, free
( 9 ) charge. Moreover, if you turn right ( 10 ) the corner crossing, you will find the Central Post Office, ( 11 ) which
is ( 12 ) your service twenty hours a day.
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Headaches are one of the most common health complaints. Some possible causes are tension™”, allergy, injury, hunger,

or changes in the flow of blood in the vessels*” of the head. I , more than 90% of headaches are caused just
by tension, and most of them can be treated without any doctor's help. H , an unusual headache, or a change

in the usual pattern of your headaches, may be a different matter. Some of them could require an immediate medical care.
1¥) tension™ BIE  vessel” I
Ll I 7 Therefor A Instead v In addition T As a matter of fact
fii 2 H 7 furthermore 4 however Y namely = then



[7] ROBRIZRENTDO~QDEXLE AN DR DELLETE2,. TOXEFOD~@D I bhbZhEh—oF
OFER, L, FBREIL—XToAN L, (3Hx 3 FF9&H)

@ Furthermore, he or she will not have to wait for someone to die to get a new heart.
@ They are afraid that cloning will lead to the production of human beings for body parts.

® Even if one country bans™’ cloning, there will always be another country that promotes it.

A basic rule of medical science is that no human life should be used for the benefit of another. Some people are
against human cloning™’ and related techniques for this reason. In cloning, an egg cell is used to develop ordinary cells.
The opponents of cloning insist that this is killing, because it destroys the potential of the egg to develop into a human
being.

Other people oppose cloning because at this stage it is unreliable. @ In animal experiments, for example, success
rates are very low. Still others are concerned about the future that cloning might bring about. @ They also fear that
cloning might lead to attempts to create "superior" humans.

Not everyone is against human cloning, however. Some people support cloning if it is for the purpose of medical
treatment, although they oppose the cloning of babies. & The medical benefits of cloning and related techniques, they
argue, could be huge. For example, if a heart can be developed from a patient's own cell, the body will not reject ™’ it. @

Supporters claim that the use of such techniques is not killing. Just as ordinary store-bought eggs do not develop into
chickens, the eggs used for cloning do not develop into human beings by themselves. They also argue that it is already
practically impossible to stop a patient from receiving medical treatment that in some way depends on cloning and related
techniques. @ The supporters, therefore, maintain that scientists should have the freedom to experiment and that people
should have the freedom to seek lifesaving treatments. @ In other words, they feel that cloning should be continued

unless it is clearly shown to be harmful. The debate over this issue is likely to go on for some time.

) ban™' ¥ 2 cloning™ Zu— il reject™ EHT 2
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B Report 1

Global warming has been one of the most serious problems these days. Not only scientists but people here and there
know how the warming happens and how it is caused. A lot of CO, is given off into the air every day by the use of fuels
such as oil and coal. N,0, CH,, and other gases are released into the atmosphere as well as CO,. These gases cover the
earth and have made it like a large greenhouse, where there is no exit for heat to escape. The temperature inside it is
getting higher and higher. That's why those gases are called "greenhouse gases."

In order to decrease greenhouse gases, a lot of countries and governments agreed to the international treaty, "Kyoto
Protocol” in December 1997. They promised to reduce those gases by five percent between 2008 and 2012, compared with
what they had given off in 1990.

How can governments control the emission of greenhouse gases? Actually, several ways have already been introduced
in our everyday life. For example, in Japan, some percent of electricity has been made by nuclear power. A small percent
of electricity has been produced from renewable resources of energy, such as wind power, water power, and solar power.
Automobile companies have started to sell electric or hybrid cars to use no, or little gasoline. However, the goal is too high

and there is little hope to reach it.

B Report 2
As is often mentioned, it is quite difficult to control the emissions of CO,, the major cause of global warming. More

than eighty countries signed the Kyoto Protocol, but it is not easy for many of them to meet their goals, and some advanced



countries such as the United States, Russia, Australia, and Canada, haven't accepted this treaty.

On the other hand, due to advanced technology, people have started to slow down global warming. One way is
CCS, Carbon dioxide Capture and Storage. Power plants produce electricity by burning oil and coal. A lot of CO, is also
made and released into the air. CCS technology can keep it underground or somewhere, instead of giving it off into the
atmosphere. Another technology is Artificial Photosynthesis. On earth, plants produce their food by using sunlight, water,
and CO,, and give off O, into the air as a byproduct. Now we are able to do this with our technology, which is called
"artificial photosynthesis." CO, can also be used for increasing oil-extraction. We take oil from underground. At first, oil
comes up quickly through the pipe. However, when we get more oil, the oil speed from underground gradually slows down
and we cannot get so much oil as we did at first. CO, can be used to push oil underground and speed up oil coming up to
the surface.

With these technologies, we will be able to consume CO, and reduce it on the earth. Of course, it is very important
to control CO, emissions. However, if we are able to consume more CO,, we don't have to struggle very much to decrease

CO, emissions. This will be a great solution to global warming.

1 Report 1 25T WBEF()E Report 2 BTV BEBR)E ZNEFNA~ED» L 1 0T ORBUEL S W, (3
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(A) A lot of countries such as the United States, Russia, Australia, and Canada have accepted the Kyoto Protocol,
and have been struggling to reach their goal to reduce CO, emissions.

(B) In order to control global warming, we can also use CO, to produce more O, and get more oil.

(O Not only CO,, but also N,O, CH, and other gases are the causes of global warming,. We should pay more
attention to those who release those gases.

(D) Decreasing of CO, emissions is very important to control global warming. People are struggling to make it,
but we cannot say that is has been successful so far.

(E) Thanks to our new technology, global warming has been stopped. Especially Artificial Photosynthesis is a

useful way to control global warming.

M2 XRoU~O)D&FL T, HWEKIRBILXIE L LT Report 1 TRASNTWB HDIziE (A). Report 2 THREME
TWaHDITE (B), ELLIZHWAENTORVWHDITIE (C) ZRLEREIWV, (2AHX6R 312 &)

CO, emissions can be reduced by burning bio-fuel instead of oil to produce electricity.
O, can be given off into the air by using sunlight, water, and CO, artificially just like plants do.

Countries buy and sell CO, emissions to meet their goals of the Kyoto Protocol.

(1)

(2)

(3)

(4) Electric cars and hybrid cars reduce CO, emissions.

(5) Nuclear energy, as well as renewable energy, has been introduced in Japan to control CO, emissions.
@

CO, is to be stored underground instead of being released into the air.
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